
1 
 
 



2 
 

 
 



3 
 

 
 
 
 
 



4 
 

APPLICATION 
Before commencing the procedures outlined, please read the guide and verify all parts are present and not 
damaged. If anything is missing or damaged, please notify PWR Performance Products on 07 5547 1600. 

PACKING LIST 

Description Part Quantity 

21 Row Engine Oil Cooler PWO5931 1 

Speedflow -6AN to 3/8” 90 Degree PWA413-06-P 2 

-6AN Engine Oil Cooler Adapter 03A10881 2 

3/8” Transmission Cooler Hose PWA59340 1.45m 

3/8” Transmission Cooler Hose PWA59340 1.05m 

16mm Split Corrugated Tube PWA115191 0.95m 

16mm Split Corrugated Tube PWA115191 1.35m 

Hose Clamps RML0009 4 

M8 x 25mm Bolt 15A.07-63855 1 

M8 Nut 15A.08-63855 1 

M6 x 25mm Bolt SHCSM625 8 

M8 x 12mm Bolt SHCSM812 1 

Spacer For Hilux Brackets 99A12398 8 

M6 Large Washer MSFWM6Z 10 

M6 x 16mm Bolt MSSSM616Z 2 

M8 Washer MSFWM8Z 2 

Large Sheetmetal M8 Washer 99A29039 1 

Oil Cooler Brackets PWA113707 1 

250mm Zip tie PWA5432 4 

Warranty Card   

 

 

 

 



5 
 

  Step 1: Remove centre panel to gain access to 
behind the grill. This is done by pressing the 
centre of the small clips in and then lifting them 
out. Once all have been removed you will be 
able to lift the panel off. 

 

Step 2: Remove the grill support bracket and 
the horn from the radiator support. Once 
removed, remove the bolt holding the bonnet 
latch on. 

Step 3: Remove the underbody protection to 
gain access to the transmission lines. 



6 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 4: Once the underbody protection has 
been removed you will remove the below 
transmission line using pliers to release the 
clamps. 



7 
 

 

  

Step 5: Next you will place the brackets onto 
the cooler. This is done by putting the supplied 
spacers into one side of the cooler, sliding the 
bracket in and securing it with a bolt and 
washer. You will then slide the spacers into the 
other side, slide the bracket into position and 
secure it onto the cooler. Repeat for bottom 
bracket. 



8 
 

 

  

Step 6: You will now bolt the cooler in. This is 
done by using the supplied short M8 bolt and 
washer to secure the left side of the top bracket 
and one of the supplied M6 washers and bolts 
to secure the right side of the top bracket. You 
will use the other M6 bolt and washer to secure 
the horn to the middle of the top bracket. The 
bottom bracket can be tricky without taking the 
bumper off, but it is possible. You will slide the 
long M8 bolt and washer through the bracket 
and lower crash bar then use the large M8 
washer and nut to secure the bracket through 
the back off this support. 



9 
 

 

  

Step 7: You will now put the corrugated tubing 
over the hose and secure it with the supplied 
zip ties. 

Step 8: Next you will connect shorter hose to 
the below pictured barb and then run the hose 
up to the bottom of the oil cooler and secure it 
with the supplied hose clamps. The barb on the 
vehicle can be tough to get a hose over but it is 
possible. 



10 
 

 Step 9: Now you will turn the inlet of oil cooler 
up and fill the cooler and lines through this 
barb. We recommend adding roughly a litre of 
fluid. 

Step 10: Once filled you will plumb the long 
hose from the outlet of the trans cooler in the 
radiator to the inlet of the oil cooler. 

Step 11: Lastly you will reassemble the vehicle 
in reverse order by reinstalling the grill support 
bracket, grill cover panel and underbody 
protection panel. 


